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Chapter

%% ] TestB
b Solve the system of linear equations using any method. Answers
)("SY ="332 1. x —X: =30 2. x+2y= -3 32( Sx - 4y = _]5) 1. (—515)
SRy ST 3x + 3y = 10 5% 4 2y =51
T — -;,-25" Yx=-20 x%=-5 - , 2. _C:ﬂl_.‘aj_
== _:E'i 4. y=(-2x+3) 5 y=(C5x+6) A 6. x=-y-1 5, *H
¥= . -4x +2p =28 2x+p=6 -5x+2y——65 '
2x-PXIC=C o B D)
Y x+2y = -3 ' Graph the inequality in a coordinate plane. £1i psign when .—65) " (O, &)
g 7. >0 8 = _.iy < -10-2x
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2 N — < > 8. See left.
2 ({ RN T e [ 3 L
&g‘f j 3 [, L 9. __See left.
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T 2 Graph the system of linear mequalities

=3 9. E+%z> 2-3,>< T—"‘ "-"10 &z -3y 2 _% 3‘.—.-z+5x12. Bogg_bhie
+ §_+.2_y.<2—_zs Yﬁl-—,_x $+5_ﬁ&s—831—33 e 242 160 nickels
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XTZ(ZX-‘S)% =~ R\ ln "‘Zy s
b 4% 6= N
-6x+(=— = j_;
_—ex & =2 "
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x= “{' B J
< =-2x+3

= - 1;,) +3 | 11. Writean expression that you can substitute for x in the top equation of the
system below to solve the system by substitution. - Solve for botton X”

5x -2y =28
x-y=1 = |+
; x—ey-zs Y 4ty x= Ity
5X+7—7=' 12. You have $8.80 in pennies and nickels. You have twice as many nickels as Penhies =x
s (‘f D+2y>6 pennies. Write a system of linear equations that models the situation. How Nickels = Y
- 1 ,.d many of each type of coin do you have?
s{+t5+‘2.\’--051 B0 pennies ©O.0lx + O. OGY 2.20
WE=-65 (o nickels 2=+
Ly=—o o.olx + 0.a5(2x) =8.80
1=_|(;1 O.olx+ O.Ilx =86.80
Q.lix =2S.2 22X =Y
1% B0 _
== o-)'_h C.lie oO.l1 UeH=y

Scanned by C&mMScannef®”



Chapter

o 5 @ Test B (continued)
| SOLVE For VY AD LoOK AT SLOEES
Compare the slopes and y-intercepts of the graphs of the equations in the Answers

linear system to determine whether the system has one solution, no toH
solution, or infinitely many solutions. Explain. 13.Ccn€ STIVTAoW

13. x = -3y + 28 14. 2x + 3y =11 15. x +2y =3 d:££ slopes

x+ 4y = 36 —4x — 6y = =22 -2x —4y = =20 ' e
V== 3 +2f5y= 4%+ diff y-wnt
16. You make $5 an hour in tips working at a video store and $7 an hour in tips 14, in£i al i“‘j mMany
working at a landscaping company. You must work at least 4 hours per week 2
at the video store, and the total number of hours you work at both jobs in a sjgp_ﬂi_ 3
week cannot be greater than 15. 9oyt = -'3‘-
!

a. Write a system of linear inequalities to model the number of hours thatyou .. . o solutian
could work at each location in a week. vwoHni ng albout money - _ \
' slopes = 2

b. Graph the system of linear inequalities. X = ‘-l- ] )
y-ints are di-E€

Hours Worked in a Week 7<+Y =S
> 16. a X = o
5 ! )/ £ -x 4I5S ’
g 12 Xty £\s
r %9
tp® b.__ See left.
28 4
;:’ . 5 e P = SX+—I‘/
o 0 10 JO X ;
Hours at viad€o = > d.nay vqr\/
videostore |} oy~ d € capivg = VY (10,2) 4
, hre @ Vioeo
c. Write an equation $at models the total tips you receive from the two jobs. lzohy s @ la hdSc.afie
P=Profi '
d. Identify and interpret a solution of the system. _ 17. u < I + 3
/rite a system of linear inequalities represer{ted by the graph. u <-2x+ &
= naded T I, 1
17. IR 7 eho 18. FTTHFT T mus X+
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UON Lo-dashed \ine > for dag —

yive the equation by graphing. Check your solutions.

9. 2x—3=x+2 20 |x—1|=|2x-5] 21 |-x|=|2x-3|
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